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(Vi) SAPAER & Jaim o sremfey 7 2|

Note: (i) There are in all 30 questions in this question paper. All questions are

compuisory.

(ii)) Question No.1 to 10 carry one mark each. Question No.11 to 15 carry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26 to 30 carry six marks each.

(iii) Question No.1 to 5 are multiple choice questions. Here four options are
given in each question. Write the correct option in your answer book.

(iv) There is no overall choice in question paper, however, an internal choic
has been provided in two questions of 2 marks, three questions of
marks and three questions of 6 marks. You have to attempt only one
the given choices in such questions. :

(v) In questions on construction, drawing should be neat and exactly as |

the given measurement.
(vi) Use of calculator is not permitted.
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In following, the irrational number Is- (iv) 2/3

V3 (i Ja (iiiy 5
2. fom gz ot e e & -

The degree of 3 quadratic polynomial is - (iv) 3
@M o )1 i~ 2
3. WHER 397 4, 10, 16, 22, - &T 3T 9 &I~
The next term of A.P. 4, 10, 16, 22, ---===- wi
(i) 26 (ii)L28 (i) 30
4. uﬁumqaaﬂqﬁmqsﬂ?a}mﬁ@mm%m?. ar
NOEwE: Fr3 (i) 4 ATAD (i) = HEFD
If the perimeter and the area of a circle are numerica

(iv) 32

(iv) 7 AE®
Iy equal, then the radius of
the circle is :

(i) 2units (ii) 4 units (i) munits

5. 39 e, e ufea @ Fifdea &, & mfdear @ & - : 1
The probability of an event which is sure to occur is : :

(i) o (i) 1/2 (T (iv) 2
feara wfiaxor x2 - 9 = 0 P & BRI 2 ‘ 1

Solve the quadratic equation x2- 9 = 0.

(iv) 7 units

6

=

_z,'z:rf%cotAz%H’rtanAaﬂm?ﬁﬁaﬂﬁml 1

If cot A = %, then calculate the value of tan A.

8. @ WHEY FAYSH B Y 4 : 5 & U A &, I &Gl BT g s Dol 1

Sides of two similar triangle are in the ratio 4 : 5. Find the ratio of their areas.

9. 3w R ot g g B o o de A wed @2
How many tangents are there to a circle, passing through a point lying on the
circle? |
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19. ft St 1 e st e e s Afeast iR aged B 45 3R 131 1

Find the mean of a distribution if its median and mode are 45 and 13
respectively. ' )

11. e 9gI< ax2-8x-4 & YFATH S AN 4 A A a BT A FABA 2

If the sum of zeroes of the polynomial ax-8x-4 is 4, then find the value of a.

12¢ AR A, B, C Rl & % s Bor & o g e s - | 2

. 13.

14.

15. T

231 (HSG) [3]

B+C A B+C . A
COS— + COS sin— =1

2 2 2
If A, B, C are the interior angles of A ABC then show that -

+C A B+C . A
C0S— + COS sin— =1
2" 2 2

sin

. B
sin

JYdr (OR)

1+tan’ A

—_——— = tan? A
1+cot A

oz Sifawe -

1+tan’A

TrcorA - M A
+ CO

Prove that -

.E‘r"rfrﬁ%mfﬁsm%——g(s, ~2), (6, 4) 3R (7, -2) vs wAlgEg PF S ME & 2

Check whether (5, -2), (6, 4) and (7, -2) are the vertices of an isosceles

triangle.

3 . ﬁmwww@ﬁvaﬂxmmﬁsﬁﬁﬁamwwaﬂﬁm 2

Draw 3 circle of radius 3 cm. and then draw a tangent at any point of it.

7 i e B T 21 0 R S e 5 e i T Bl 2

A dice is thrown at random. Find the probability of getting an odd number.
31T (OR)
12wam132mﬁq}asfirmﬂ%uasﬂ#mﬁmmm% feR =S

3reT 8 ot wifresar 1 difred

A pen is drawn at random from a mixture of 12 defective pens and 132 good

pens. Determme the probablllty that the pen taken out is good one.

[ P.T.O.
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16. 2x%~3x3-3%2
&
Find all other zerges of 2x4-3x3
are J2-and _ 5.

+6x‘2$mww§rﬁaﬁﬁmuﬁmawﬁsﬂz_ﬁ

3
-3x246x-2, if you know that two of its zeroes

17. ﬁﬂ%ﬁ@‘aﬂmﬁaﬁmﬁm%ﬁrﬁgﬁaﬂﬁv 3
Solve the following equations graphically :
X+3y=6
2x - 3y =12

18. {50 ¥R A% (A.p) SIRM TR 8, A~ vz 62 3R @& & a 210 R, et & G
3R Traf=r sma Hfsw) 3

The first term of an A.P. is 8, the last term is 62 and sum of the terms is 210.
Find the number of terms and common difference.

' 19. H.C.F. (306, 657) = 9 fr &, L.C.M. (306, 657) 511 Sl 3

Given that H.C.F. (306, 657) = 9, find L.C.M. (306, 657)
34l (OR)

fog 5w 6 5 v amfa <em &

Prove that /5 is an irrational number.

20. af¥ tan 20 = cot(6+6°)&, A ¢ B A T BIfTEI [20 TAT (0+6°) A A HOTE]
3

If tan 20 = cot(6+ 6°), then calculate the value of g, [ 26 and (9 +6°) both are ‘

acute angle]
21, ﬁma%’r%mﬁsﬁa(a 0), (0, b) 3R (1, 1) TR &, uf%

Prove that the points (a3, 0), (0, b) and (1, 1) are co-linear, if

mli-* |:r||-

t:rll-*
I
[

31d1 (OR)

frmgait (1, -4) 3R (-5, -6) B FE AT XWRUS B Y - e fep e A farwfoa
o) 21 39 sfaede foeg & e oY s S

Find the ratio in which the Y-axis divides the line segment joining the points
(1, -4) and (-5, -6). Also find the point of intersection.

1 (HSG) [4]
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memmaﬁﬁvmsﬁésﬁmﬁm 0), (4, 5) (-1, 4)3ﬂ"'
(-2, -1) & 3

Find the area of a rhombus If its vertices are (3, 0), (4, 5), (-1, 4) and (-2, -1)
taken in order.

m%%a@ﬁ%ﬁaﬁwﬁ T 21 wief Y@t 1 avargdt e @ & 3
Prove that the length of two tangents drawn from an external point to a circle
are equal.

3pfet #, OACB & 0 3ik Brsar 3.5 cm At vw g 1 wgafer &1 afk OD=2 cm &,
1 BrIifRa W &1 &A% 51T S| 3

In figure, OACB is a quadrant of a circle with centre O and radius 3.5 cm. If

OD=2 cm, find the area of shaded region. http://www.ukboardonline.com

Juar (OR)
Ry T 3nphy A wrdifod R BT & S BT, ST ABCD, 20 FHY 3511 &1 U5 T
& o 39 3 B Y B T TR TS I R Hggd Wi €, (n = 3.14)
Find the area of the shaded region, where ABCD is a square of side 20cm and
semicircles are drawn with each side of the square as diameter, (n = 3.14)

A — 20cm — B

(5] - [ PTO.
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25 7.'3%!&-3‘31%?@1@03@%&311? i Al
f : ¥ Fynfyra e 21 v &
a1 R T 5 8 U i

Draw a line segment of fength 7.8 cm. and divide it in the ratio 5 : 8. Write the -

measurement of both parts.

26. Easqmzu%frmqa;g%@%m o ORI & 3 55 . a2 wuzﬁ

g 30 fait. OIRT & Wi aro 44 s, e 3 arget T &1 €T B et T e
I H T B O 5 D 6

_-A boat goes 35 km. upstream and 55 km down-stream in 12 hours. In 10
hours it can go 30 km. upstream and 44 km. down-stream. Determine the

speed of the stream and that of the boat in still water.
3dr (OR)

3ﬁﬁ¢ﬁﬁm(ﬁ#)mwmmﬁsaﬁwﬁm$wmm
= %l IS T 3G T BT
The sum of the reciprocals of Mohan's age (in years) Eefore 3 years"'and after 5

years from now is % . Find his present age.

27. e e o ot e forg 2 ot 7 e i e Yot & v o o
fergait @t fare arey Yamavs gRT B W 3ARa BT 3 HegRes el 21 6

Prove that the angle between the two tangents ‘drawn from an external pomt to

a circle is supplementary to the angle subtended by the line segment ]oimng the

pounts of contact at the centre. . ' _;g'

3RMT (OR) whe

BLWCM@WW%@HABC&M%MWW@WAW#I
B s 4(BL*+CM?) = 5BC2,

BL and CM are medians of a tnangle ABC rlght ang(éd at A. Prove that

- 4(BL2+CM2) = slest:2
231 (HSG) i e
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28. :rm 7 M AT 20 m ey e it Ve ST & 3R ey 2 Pl g gt o e I
B 22 m x 14m AT U TERI &1 T | 59 gga B Haré 74 S

' 6

A 20 m deep well with diameter 7m is dug and the earth from digging is evenly
Spread out to form a platform 22m by 14 m. Find the height of the platform.

OB AR 2 - 3 v 35 R 1 3 on 300 & 31K e 85 g
R & R 31 352 @or 600 1 i A7 som 32, A v o e g e

_ . a ' 6
The angle of elevation of the top of a building from the foot of the tower is 30°
and the angle of elevation of the top of the tower from the foot of the building is
60°. If the tower is 50m high, find the height of the building.

29.

FHT (OR)

T e I B MR F Uz 7 ST &1 R B RRR | @1 06 3 UE 3R
P 30° & FITHT PHIT R 27T & 37 5 R B Iz B 3R v T e & S R S
HEHUE A R BN G BT 60° & | sﬂﬁ-—g%ﬁqﬂasmaasugaﬁﬁmam
foram e W s e

A straight highway leads to the foot of a tower. A man standing at the top of the
tower observes a car at an angle of depression of 30°, which is approaching the
foot of the tower with a uniform speed. Eight second later, the angle of
depression of the car is found to be 60°. Find the time taken by the car to reach
the foot of the tower from this point.

30. £p aRaRdl 9 & B afae sA A : 6

i 3R TRERA!
140 | TH 4
140-145
145-150 | 18
150-155 1
1155-160 6

_ 160-165 5

o 231 (HSG) (7] 1P.TO.
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.Flnd the medj
o edian of the following frequency distribution

Class interval Frequency
Less than 140

140-145 4
145-15p

150-155 »
155-160 .
160-165 :

http://www.ukboardonline.com
Whatsapp @ 9300930012

Send vour old paper & get 10/-

U g dud for 3 10 sud urd,

Pavtm or Google Pay &

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



